
CHAP.08

Rev.D

DRIVE MOTOR ASSY, 3900 LOWER, 24V

14/12/2007

26500

7

6

2

5 1 3

3

3

9

4

8

ITEM QTY PART NO. DESCRIPTION NOM
1 1 10218 MICROSWITCH MICROSWITCH
2 2 BR10302 INSULATOR, LIMIT SWITCH ISOLATEUR
3 5 10872 SCREW VIS
4 1 BR11080 SCREW, FLAT HEAD, #8-32 X .38 VIS ,  #8-32 X 3/8 
5 2 BR11805 SCREW TC N°4-40 UNC 2A VIS TC N°4-40 UNC 2A
6 1 16086 BRACKET, MOTOR MOUNTING Plaque de montage moteur
7 1 BR16052 BUSHING BAGUE
8 1 17797 BRACKET, SWITCH MTG., 3150/3900 EQUERRE DE MONTAGE
9 1 40391 MOTOR, DRIVE, 24V, 50/60HZ, MOTEUR D'ENTRAINEMENT




